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5Maths Rapid Tests 3

8.	 Solve these calculations.

	 a)	 8 × 7 =

	 b)	 9 × 3 =

	 c)	 132 ÷ 11 =

	 d)	 72 ÷ 9 =

	 e)	

	 f)	

9.	� Henhouses can hold twelve 
chickens. If there are 8 
henhouses, how many 
chickens will they be able 
to hold altogether?

10.	� There are 135 sweets in a jar. 
How many sweets will there 
be in 6 jars?

11.	� If there were 31 children in each 
class, how many children would 
there be in 8 classes?

12.	� In a packet of sunflower seeds, 
there are 82 seeds. If Paul buys 
4 packets, how many seeds  
will he have?

13.	� Each school coach seats 64 
children. On a school trip, Year 
4 filled 3 coaches. How many 
children were going on the trip?

1.	 Use column addition to solve these calculations.

	 a)	 264 + 132 =	 b)	 516 + 281 = 

2.	� Use column subtraction to solve these 
calculations.

	 a)	 487 − 235 =	 b)	 585 − 412 = 

3.	� Tamara had 97 marbles. She 
swapped 28 for some stickers  
and another seventeen for some  
gel pens. How many marbles  
does she have left?

4.	� Sammy has 123 conkers 
and Tilly has 46 more than 
Sammy. How many do they 
have altogether?

5.	� Nora’s swimming club had 137  
members. Fifty-two were boys, 
forty-eight were girls and the  
rest were adults. How many  
were adults?

6.	� Harry had 196 football cards. 
He lost 37. How many was  
he left with?

7.	� The school secretary ordered 
376 pencils. She gave 57 to 
Class 4GH and 66 to Class 4RS. 
How many pencils did the 
secretary have left?
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